STATUTORY INSTRUMENTS

# 1988 No. 1502 (S.147)

## SHERIFF COURT, SCOTLAND

Act of Sederunt (Fees of Sheriff Officers) 1988

Made	25th August 1988
Laid before Parliament	6th September 1988
Coming into force	3rd October 1988

The Lords of Council and Session, under and by virtue of the powers conferred on them by section 40 of the Sheriff Courts (Scotland) Act 1907 (1), section 6 of the Execution of Diligence (Scotland) Act 1926 (2), and of all other powers enabling them in that behalf, do hereby enact and declare:—

#### Citation and commencement

**1.**—(1) This Act of Sederunt may be cited as the Act of Sederunt (Fees of Sheriff Officers) 1988 and shall come into force on 3rd October 1988.

(2) This Act of Sederunt shall be inserted in the Books of Sederunt.

#### Amendment of fees

**2.** In Parts I and II of the Schedule to the Act of Sederunt (Fees of Sheriff Officers) 1978 (**3**) in the paragraphs specified in column 1 of the following table, for the fees specified in column 2 substitute the fees specified in column 3 of the table, and the fees so substituted shall be payable in respect of work done on or after the date in which this Act of Sederunt comes into force.

Column 1	Column 2	Column 3
(paragraphs)	(old fees)	(new fees)
(PART I – ORDINARY CO	URT	
1	2.00	2.25
2(a)	3.75	4.50
2(b)	5.00	5.50

#### TABLE

(1) 1907 c. 51 (2) 1926 c. 16

(3) S.I.1978/1423, amended by S.I. 1986/266

Column 1 (paragraphs)	Column 2 (old fees)	Column 3	
(paragraphs) 2(c)	5.00	(new fees) 5.50	
2(d)	7.50	8.50	
2(e)	2.00	2.25	
3(a)	7.50	8.50	
3(a)	2.50	2.75	
3(b)	2.50	2.75	
3(d)	2.00	2.25	
3(f)	7.50	8.50	
4(b)	1.00	1.10	
5(a)	5.00	5.50	
5(b)	4.10	4.50	
5(c)	2.50	2.75	
5(d)	10.30	11.50	
5(e)	5.00	5.50	
5(f)	2.00	2.25	
6(a)	4.10	4.50	
6(b)	2.00	2.25	
6(c)	5.00	5.50	
6(d)	2.00	2.25	
6(e)	10.30	11.50	
6(f)	6.25	7.00	
6(g)	2.00	2.25	
6(i)	3.15	3.50	
7(a)	41.25	46.00	
7(b)	2.00	2.25	
8(a)	20.60	23.00	
8(a)	10.30	11.50	
8(b)	12.50	14.00	
8(b)	6.25	7.00	
9(a)	4.10	4.50	
9(b)	10.30	11.50	
9(b)	20.60	23.00	
9(b)	20.60	23.00	
9(c)	2.00	2.25	

(paragraphs)     (old fees)     (new fees)       10(a)     2.00     2.25       10(b)     10.30     11.50       10(c)     4.10     4.50       11(a)     2.50     2.75       11(b)     2.50     0.75       11(c)     0.66     0.75       11(c)     0.30     0.35       12     0.70     0.75       14     2.00     2.25       (PART II SUMMARY CAUSE DECREES     1       1     2.00     2.25       2(a)     2.50     7.75       2(b)     7.00     7.75       2(c)     5.00     5.50       2(d)     1.00     1.10       3(a)     2.50     2.75       3(b)     2.50     2.75       3(d)     2.50     2.75       3(d)     2.50     2.75       3(d)     2.00     2.25       3(h)     2.50     2.75       5(b)     4.10     4.50       5(c)     2.00 <t< th=""><th>Column 1</th><th>Column 2</th><th>Column 3</th></t<>	Column 1	Column 2	Column 3
No10.3011.5010(c)4.104.5011(a)2.502.7511(b)2.500.7511(c)0.300.35120.700.75142.002.25 <b>PART II — SUMMARY CAUSE DECREES</b> 112.002.25(part II — SUMMARY CAUSE DECREES)2.752(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.502(d)2.002.253(a)2.502.753(b)2.502.753(c)2.502.753(d)2.002.253(h)3.502.753(c)2.502.755(b)4.104.505(c)2.502.755(b)4.104.505(c)5.005.505(h)3.005.505(h)3.005.505(c)2.502.755(h)3.005.505(c)2.505.505(c)2.502.755(h)3.003.505(h)3.003.505(h)3.503.505(h)3.503.505(h)3.503.505(h)3.503.505(h)3.503.505(h)3.503.505(h)3.503.505(h)3.503.50<			
No4.104.5011(a)2.502.7511(b)2.502.7511(c)0.650.7511(c)0.300.35120.700.75142.002.25(PART II SUMMARY CAUSE DECREES)12.002.25(2a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(h)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)1.0311.505(e)5.005.505(f)2.002.255(h)2.502.755(h)3.005.505(c)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.755(h)2.502.75 <trr>5(h)2.502.755(h)</trr>			
102.502.7511(b)2.502.7511(c)0.650.7511(c)0.300.35120.700.75142.002.25(PART II - SUMMARY CAUSE DECREES12.002.252(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)1.0311.505(e)5.005.505(f)2.002.255(h)2.502.755(h)2.502.755(i)1.001.106(a)4.104.505(f)2.502.755(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00			
11(b)2.502.7511(c)0.650.7511(c)0.300.35120.700.75142.002.25 <b>(PART II SUMMARY CVEE DECREES</b> 2.752(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)1.0311.505(e)5.005.505(f)2.002.255(h)2.502.755(d)1.0311.505(e)5.005.505(f)1.001.105(e)5.005.505(f)2.502.755(h)2.502.755(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)0.011.106(a)4.104.506(b)2.502.756(c)2.002.256(e)2.002.55 <trr>6(e)2.002.55<t< td=""><td></td><td></td><td></td></t<></trr>			
11(c)0.650.7511(c)0.300.35120.700.75142.002.25(PART II - SUMMARY CAUSE DECREES)112.002.252(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(r)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)1.0311.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.505(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)2.002.256(e)2.002.556(e)2.002.556(e)2.002.556(e)2.002.556(e)2.002.556(e)2.002.557.502.557.00			
11(c)0.300.35120.700.75120.702.25(PART II - SUMMARY CAUSE DECREES)112.002.252(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)1.03011.505(e)5.005.505(f)2.002.255(h)2.502.755(h)2.502.755(i)1.001.106(a)4.104.505(b)2.502.755(i)1.001.106(a)4.104.505(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00			
12     0.70     0.75       14     2.00     2.25 <b>(PART II — SUMMARY CAUSE DECREES</b> 2.25       2(a)     2.50     2.75       2(b)     7.00     7.75       2(c)     5.00     5.50       2(d)     1.00     1.10       3(a)     7.50     8.50       3(a)     2.50     2.75       3(b)     2.50     2.75       3(d)     2.50     2.75       3(d)     2.00     2.25       3(f)     7.50     8.50       4(b)     1.00     1.10       5(a)     2.50     2.75       5(b)     4.10     4.50       5(c)     2.50     2.75       5(d)     1.030     11.50       5(e)     5.00     5.50       5(h)     2.50     2.75       5(h)     2.50     2.75       5(h)     2.50     2.75       5(h)     2.50     2.75       5(h)     2.50     2.75 <td></td> <td></td> <td></td>			
14 2.00 2.25   (PART II SUMMARY CAUSE DECREES 2.25   2(a) 2.50 2.75   2(b) 7.00 7.75   2(c) 5.00 5.50   2(d) 1.00 1.10   3(a) 7.50 8.50   3(a) 2.50 2.75   3(b) 2.50 2.75   3(d) 2.00 2.25   3(f) 7.50 8.50   4(b) 1.00 1.10   5(a) 2.50 2.75   5(b) 2.50 2.75   5(b) 4.10 4.50   5(c) 2.50 2.75   5(d) 1.03 11.50   5(e) 5.00 5.50   5(f) 2.00 2.25   5(h) 2.50 2.75   5(d) 1.03 11.50   5(e) 5.00 5.50   5(f) 2.00 2.25   5(h) 2.50 2.75   5(i) 1.00 1.10   6(a) 4.10 4.50   6(b) 2.50 2.75   5(i) 1.00 1.10   6(a) 4.10 4.50   6(b) <td< td=""><td></td><td></td><td></td></td<>			
PART II — SUMMARY CAUSE DECREES12.002.252(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)0.3011.505(c)2.502.755(d)1.001.105(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)2.002.256(c)6.257.00			
12.002.252(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)0.3011.505(c)5.005.505(d)1.0311.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)6.257.00			2.25
2(a)2.502.752(b)7.007.752(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)1.03011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.105(e)5.005.505(f)2.502.755(h)2.502.755(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00			2.25
2(b) $7.00$ $7.75$ $2(c)$ $5.00$ $5.50$ $2(d)$ $1.00$ $1.10$ $3(a)$ $7.50$ $8.50$ $3(a)$ $2.50$ $2.75$ $3(b)$ $2.50$ $2.75$ $3(d)$ $2.00$ $2.25$ $3(f)$ $7.50$ $8.50$ $4(b)$ $1.00$ $1.10$ $5(a)$ $2.50$ $2.75$ $5(b)$ $4.10$ $4.50$ $5(c)$ $2.50$ $2.75$ $5(d)$ $10.30$ $11.50$ $5(e)$ $5.00$ $5.50$ $5(f)$ $2.00$ $2.25$ $5(h)$ $2.50$ $2.75$ $5(i)$ $1.00$ $1.10$ $6(a)$ $4.10$ $4.50$ $6(b)$ $2.50$ $2.75$ $5(i)$ $1.00$ $1.10$ $6(a)$ $4.10$ $4.50$ $6(b)$ $2.50$ $2.75$ $6(c)$ $2.00$ $2.25$ $6(c)$ $2.00$ $2.25$ $6(c)$ $6.25$ $7.00$			
2(c)5.005.502(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)2.002.256(c)2.002.256(c)6.257.00			
2(d)1.001.103(a)7.508.503(a)2.502.753(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)6.257.00			
3(a)7.508.50 $3(a)$ 2.502.75 $3(b)$ 2.502.75 $3(d)$ 2.002.25 $3(f)$ 7.508.50 $4(b)$ 1.001.10 $5(a)$ 2.502.75 $5(b)$ 4.104.50 $5(c)$ 2.502.75 $5(d)$ 10.3011.50 $5(e)$ 5.005.50 $5(f)$ 2.002.25 $5(h)$ 2.502.75 $5(i)$ 1.001.10 $6(a)$ 4.104.50 $6(b)$ 2.502.75 $5(i)$ 1.001.10 $6(a)$ 4.104.50 $6(b)$ 2.502.75 $6(c)$ 2.002.25 $6(e)$ 6.257.00			
3(a) $2.50$ $2.75$ $3(b)$ $2.50$ $2.75$ $3(d)$ $2.00$ $2.25$ $3(f)$ $7.50$ $8.50$ $4(b)$ $1.00$ $1.10$ $5(a)$ $2.50$ $2.75$ $5(b)$ $4.10$ $4.50$ $5(c)$ $2.50$ $2.75$ $5(d)$ $10.30$ $11.50$ $5(e)$ $5.00$ $5.50$ $5(f)$ $2.00$ $2.25$ $5(h)$ $2.50$ $2.75$ $5(i)$ $1.00$ $1.10$ $6(a)$ $4.10$ $4.50$ $6(b)$ $2.50$ $2.75$ $6(c)$ $2.00$ $2.25$ $6(e)$ $6.25$ $7.00$			
3(b)2.502.753(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)6.257.00			
3(d)2.002.253(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)2.002.256(c)6.257.00			
3(f)7.508.504(b)1.001.105(a)2.502.755(b)4.104.505(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(c)6.257.00			
4(b) $1.00$ $1.10$ $5(a)$ $2.50$ $2.75$ $5(b)$ $4.10$ $4.50$ $5(c)$ $2.50$ $2.75$ $5(d)$ $10.30$ $11.50$ $5(e)$ $5.00$ $5.50$ $5(f)$ $2.00$ $2.25$ $5(h)$ $2.50$ $2.75$ $5(i)$ $1.00$ $1.10$ $6(a)$ $4.10$ $4.50$ $6(b)$ $2.50$ $2.75$ $6(c)$ $2.00$ $2.25$ $6(c)$ $2.00$ $2.25$ $6(c)$ $2.00$ $2.25$ $6(c)$ $2.00$ $2.25$ $6(c)$ $6.25$ $7.00$	3(d)		
5(a)2.502.755(b)4.104.505(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	3(f)	7.50	
5(b) $4.10$ $4.50$ $5(c)$ $2.50$ $2.75$ $5(d)$ $10.30$ $11.50$ $5(e)$ $5.00$ $5.50$ $5(f)$ $2.00$ $2.25$ $5(h)$ $2.50$ $2.75$ $5(i)$ $1.00$ $1.10$ $6(a)$ $4.10$ $4.50$ $6(b)$ $2.50$ $2.75$ $6(c)$ $2.00$ $2.25$ $6(e)$ $6.25$ $7.00$	4(b)	1.00	1.10
5(c)2.502.755(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	5(a)	2.50	2.75
5(d)10.3011.505(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	5(b)	4.10	4.50
5(e)5.005.505(f)2.002.255(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	5(c)	2.50	2.75
5(f) $2.00$ $2.25$ $5(h)$ $2.50$ $2.75$ $5(i)$ $1.00$ $1.10$ $6(a)$ $4.10$ $4.50$ $6(b)$ $2.50$ $2.75$ $6(c)$ $2.00$ $2.25$ $6(e)$ $6.25$ $7.00$	5(d)	10.30	11.50
5(h)2.502.755(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	5(e)	5.00	5.50
5(i)1.001.106(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	5(f)	2.00	2.25
6(a)4.104.506(b)2.502.756(c)2.002.256(e)6.257.00	5(h)	2.50	2.75
6(b)2.502.756(c)2.002.256(e)6.257.00	5(i)	1.00	1.10
6(b)2.502.756(c)2.002.256(e)6.257.00	6(a)	4.10	4.50
6(c)2.002.256(e)6.257.00		2.50	2.75
6(e) 6.25 7.00		2.00	2.25
			7.00
	6(f)	2.00	2.25

Column 1	Column 2	Column 3	
(paragraphs)	(old fees)	(new fees)	
6(h)	3.15	3.50	
7(a)	41.25	46.00	
7(b)	2.00	2.25	
8(a)	20.60	23.00	
8(a)	10.30	11.50	
8(b)	12.50	14.00	
8(b)	6.25	7.00	
9(a)	3.45	4.00	
9(b)	10.30	11.50	
9(b)	20.60	23.00	
9(b)	20.60	23.00	
9(c)	2.00	2.25	
10(a)	2.50	2.75	
10(b)	2.50	2.75	
10(b)	0.65	0.75	
10(c)	0.30	0.35	
11	0.70	0.75	
13	2.00	2.25	

Edinburgh 25th August 1988

*Emslie* Lord President IPD

### **EXPLANATORY NOTE**

(This note is not part of the Act of Sederunt)

This Act of Sederunt amends the Act of Sederunt (Fees of Sheriff Officers) 1978 as amended by the Act of Sederunt (Fees of Sheriff Officers) 1986 by increasing the fees payable to Sheriff Officers by about 12%.